
答え 165.6cm

（４＋８＋４）×3.14÷２＋4×２×
3.14÷２＋８
＝８×3.14＋４×3.14＋８
＝（８＋４）×3.14＋８
＝１２×3.14＋８
＝３７．６８＋８＝45.68

9×４×２×3.14÷４＋９×２×
3.14＋9×２＋１８
＝１８×3.14＋１８×3.14＋18
＝（１８＋１８）×3.14＋１８
３６×3.14＋18
＝113.04＋１８＝131.04

(3) 式 ６×２×3.14÷４×２
＝６×3.14
＝18.84

答え 18.84cm

(4) 式 20×２×3.14＋２０×２
＝４０×3.14＋40
＝１２５．６＋40
＝165.6

答え 45.68cm

(2) 式

答え 131.04cm

円周の長さ５
（いろいろな図形のまわりの長さ）

年　  　組　　名前（　　　                　　　　　　　　　） 

次の図形のまわりの長さを求めましょう。

(1) 式 計算スペース

９ｃｍ

20ｃｍ

８ｃｍ

４ｃｍ４ｃｍ

９ｃｍ

９ｃｍ

９ｃｍ

６ｃｍ

６ｃｍ
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(4) 式 20×２×3.14＋２０×２
＝４０×3.14＋40
＝１２５．６＋40
＝165.6

答え 165.6cm

答え 1４９.04cm

(3) 式 ６×２×3.14÷４×２
＝６×3.14
＝18.84

答え 18.84cm

（４＋８＋４）×3.14÷２＋4×２× 
3.14÷２＋８+4×２
＝８×3.14＋４×3.14＋８＋８
＝（８＋４）×3.14＋１６
＝１２×3.14＋１６
＝３７．６８＋１６＝５３.68

計算スペース

答え ５３.68cm

(2) 式 9×４×２×3.14÷４＋９×２× 
3.14＋9×２＋１８
＝１８×3.14＋１８×3.14＋３６
＝（１８＋１８）×3.14＋３６
＝113.04＋３６＝１４９.04

円周の長さ５
（いろいろな図形のまわりの長さ）

年　  　組　　名前（　　　 　） 

次の図形のまわりの長さを求めましょう。

(1) 式

９ｃｍ

20ｃｍ

８ｃｍ

４ｃｍ４ｃｍ

９ｃｍ

９ｃｍ

９ｃｍ

６ｃｍ

６ｃｍ
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